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Answer the following questions
1- Choose (A) or (B) and answer the question
Replace the statement with a suitable term
(A) The rock mass found above fault plane.

(B) A fossil with wide geographic
distribution and limited time range.

2- Choose (A) or (B) and answer the question
Choose the correct answer

(A) Apatite mineral can scratch ......

(@) Quartz.
(b  Tale.

(©  Topaz.
(d  Diamond.

(B) A mineral can be attracted to the

magnet:

@)  Gold.

(b)  Pyrite.

(© Calcite.
(d)  Magnetite.
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3- Choose (A) or (B) and answer the question:
Interpret:

(A) Mostofthe Earth’s history is unknown.

(B) Side of fault is found polished with
parallel scratches

t(0) 91 (1) (3l s 350 Y
: s
polas sl (o )Y elase (1)
292 g Flat il Jlaw! (o)
FA)Igie ligus g doglas

4- What would happen:
When the green plant exposed to light with
wave length less than 300 nanometer.

5- Mention the importance of:
1%t : Cutine to the desert plants.
2" : Humus to the agricultural soil.
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6- Compare between Barchan and coastal dunes.

AN HLESH (LB -
LAl Lt GLEST

Barchan dunes / a.d5gh oLESS

Coastal dunes / ad Ludt HLESS

7- Study the figure and answer the questions.

roen | @ Elalel GUN JSEN (uyal -V

I*: What would happen in the future at | o jaiuar 5 s e ¥y

point 1- give an example?

2"; What would happen in the future at

point 2- give an example?

1
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8- Calculate the atmospheric pressure on
an airplane flying at 11 Km height; and
a pressure on a submarine body at 100m
depth in the sea.

Lo pBigl) Gol da il s -A
S V) el e 3l mews
i Lo 131381 G301 da RNy
22l (8 pe \ + Ges e dolgl

9- Mention similarity and differences
between orthorhombic and triclinic
crystal systems.

1O IS O y3nTg ol d g HSDI -4
@WtM!ng.Lgiemm
cJoeedf IS (g sl allal

Orthorhombic crystal system
@M!M! 6)3.\.}3‘3\.&.3‘

Triclinic crystal system
a3l A (59l | plladd!

similarity
aslaat

differences
LAY
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10- Choose (A) or (B) and answer the question | : e (<) of (1) (gt dsi i3t -\«
Replace the statement with a suitable | :culiadl gl plaly 3kl Jdiul

scientific term (2 A 9STe Cile 9 g g slas (1)

(A) Curvature and bending of a river course. B ART

(B) Deposits of calcareous material grows | s ao e 390 (pe cowlyy (w2)
from the floor of the cave upward. Joad | don 8 jlact | Ao | (e

Jicn y ¥ obeald ot ,8

11- Choose the correct answer s adale (e HLCS ) =Y )
All the following minerals have a cleavage | | | g1as 2011 galastt pas
property except... e Lo pluads ¥ dumls

(@) Mica. st (D)

(®  Quartz. st (@

(©)  Graphite. et )

(@  Calcite. ceatstt ()

12- What would happen when the light § eeel e Sty 13Le -\ Y

illuminates the surface of mineral

Lt (yae s guall do g2
galena? ~ Bl e £l gl
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13- Mention the difference between SLedt Gy M MUY Lgam g 4SBI -\ ¥
hibernation and aestivation (laziness). cotal! Jgaindl g 8 il
hibernation / gt Sed aestivation / paual! Jsat!

14- Justify: sdle -\ ¢

The Foliation property of the mica schist. | HSaal! s b 5 Tali ygqt

15- Mention the environmental conditions | 1 a_dcudt cag - tal S50 -\
under which the rock salt in central relad) Slida (98T 1) S

Europe was formed. gyl dacug 6 y3al

Q-1 gja i lJ@eidg_oJ



(At 3D AR Ao ¥ pgLat g Lo o ot - Aolatt A g3l Al 5kt AL 5l Lol

16- Choose (A) or (B) and answer the question

Compare between:

(A) Ways of solving the problem of eroding
the agricultural soil, and ways of solving
the problem of mineral depletion.

(B) Grazing in weed areas and grazing in

areas of shrubs and trees.

vl @3 (0) 91 (1) ol audt dni pi30 19

A, iy 20 5 3,0 (1)
Oslaed) il £ Ve g

e My olas ¥ Ghblie ob e 11 ()
¥y Ol pundd| 3lolin
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17- What would happen if ..... §eee e Oy I3ke -\
te ; ; . . N 7
s A t.ectonlc plate moves hpnzontally £9d plal ST £t Sy ¥yl
against another plate without any
vertical displacement.
2": An earthquake occurs below ocean floor.

il s Qe T 9585
.):-...‘1185&:-.3 Jl).b Srgd \:d\:t

18- “Plant stem is usually of positive | =g ot SLGI Blw, -\A
phototropism “ discuss the statement. -5 yLiat) 028 7 pif (i 9o
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19- Choose (A) or (B) and answer the question:

Replace the statement with a suitable scientific term:

(A) A geologic structure produced
by compressive force where the
youngest rock are found in the center.
(B) Period characterized by first
appearance of Eutheria mammals.

10 (@) 9 (1) o 3uadt i 2501 -1
wa‘gM‘MQSJL‘dM.\.‘CwI
daiuall g 58 Jada i o o g S 3 (1)
S el 2 i il Galy
296 Al ool pae (9)
Acardia | Olo il

20- Choose (A) or (B) and answer the question:

What would happen if ....
(A) Mountainous area subjected to heavy

rain of torrent.

(B) Ground water rich in carbon dioxide
passes through limestone rock.

vl @3 (2) 91 (1) o uadt i pi5n) =Y
s ke Crdoms 13Le
332 8,052 sl sldogra (1)
§ dewad 1 £ 8T Jlismd 1 L p0
ST il Aid il olis 390 ()
o puntl jgall I3 (93,811
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21- Choose (A) or (B) and answer the question:
Interpret:

(A) Marine creatures do not die due to the
freezing of water in winter.
(B) Marine area gets rich in nutrients and
increased fish production.

z»ipﬁ(u)y(!)wjtwt»t;@l -
1 uid
P At sl WD ge3 ¥ (1)
2l cdast Gl liad
rebiallLgd 3145 4 poms 3 bolia ()
Alew¥ 3 313 g Brliial

22- Replace the statement with a suitable term:
Term used to denote granitic composition
of the continental crust.

rllaaelly 5yl Jociw) -YY
ot liad ! (alalt
':‘:'JLB‘SM‘JM (_.9:*'.9"‘)"'”

23- Explain the importance of
petrochemicals.

Ol glaniS g | Apadi g -YY
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24- Choose the correct answer AUAUY A0 L 5at! Jolgatl (po - Y E
....... are among the physical criteria of  (eld |

the ecosystem

Chemical composition of water olall AleasI cas S

Producers Asiiad | LIS

®O06

®
Temperature Byl pad @
®
®

DeCOIIlpOSGI‘S. R-TTEN el i L4 1]

25- Recognize the following rocks:  AGY! Heduall e (8yad -Y0
I*: Carbonate sedimentary rock rich in | o4, ,8 e (95 5 siue ¥
microfossils (foraminifera). Syl B gt I3

(1 pacielygall) dadod

2": Volcanic igneous rock consists of | e 035 Pl gl poe Lol
55-66% silica and rich in Ca-Na | Lty 111 : 00 s Kaowd!
plagioclase feldspar and amphibole. 33l a1 5l g S

¥y agugually
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26- Compare between Gabbro and rhyolite | s (o g bl g Cad gl J (o (18 - Y1
in terms of mineralogical composition 231 ISy ictaal! S 51

and place of crystallization.

Rhyolite /=3 g1 11

Gabbro /g pl=tt

mineralogical

composition

‘;SM‘%;_«S):U‘

place of

crystallization

ST LS

27- Study the figure of the delta profile and | gla3 J iy gt ity 8 =YY

answer the questions:

AT o
‘Delta Plain

1*': What do sediments 1 & 2 point to?

LT Lo gy

Lilal) olids —
Layers of Delta Al whw

Sea level

AY) (V) el el LGS :’Yj;‘

2": What are the necessary conditions for | calgl! dogpddt o Leo:Lals

forming delta?

LAY (98T Lo 48143
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28- Choose (A) or (B) and answer the question
Replace the statement with a suitable scientific term

(A) Repeating growing the same crop in
the same soil for successive years.

(B) Grazing type in which, the rate of
growing grass is less than the rate of
consuming them by animals.

29- Choose the correct answer:
Which of the following factors greatly
help the deposition process in rivers?

Excess amount of water.
Increased water speed.
Presence of obstructions.

Decrease in water temperature.

®06

30- Justify:
Occurrence of invertebrate marine fossil
in rocks located in high mountainous
place.

i @ (00) 1 (1) (o ) i 25 YA
il ! alal plasaatly 5 ylaatl Sl

A 1931 J guamal | dalyy iS5 (1)
A lle Ol gl & T80 gl (A

Juae 0950 Lekie Gy (22 64 ()

Jukas (e JB1 it g

il 1 00g Gl gt | & Mgiias!

1 Asvonall dala Wi 50 -Y4
A ety ke Ly B S gt (0 51
) B o T e 8 S
sladl AceS daly) @
sladl de pw Bala) @
Srmalls Bile 2929 @

PRIV P SPAPYET R )

1P Lt Je Y
Olalaad I ol , o> 3929
@2 Uogaall LAy Ay d)
.AaaT ye Al (ySLal
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31- What do result from.....? 1 ole A Slad ) ZILES Le Y
Occurrence of dense plant cover during | ysis _stLcitisltaatiaslss
carboniferous period. ) .

p §5293,SH yucaall

32- Name the minerals described in the following: | (agiwgatt Htaoti gwlloe -¥Y
1%: Mineral can be scratched by streak 1 (S (0 5Lt by
plate, yet cannot be scratched by a | zsb adiis (Sos Hias ¥
piece of glass. RCOR PP SEN (- WEWN {
2"; Mineral exhibits fibrous tissue and get C""J“"""E‘ Al
rippling upon changing of light direction. ze AL e 93 ke LuLo
At gegiallolondl i e

SYMIL (8 pal dols
33- What would happen if .... rdie Gy 130e -YY
Basalt is exposed to rainfall for many obeat St pomio (yo pas
years. TAL b Ol e llae
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34- Choose (A) or (B) and answer the question :
Discuss:

(A) Permanent vegetation has properties
that enable it to adapt with the
ecosystem conditions.

(B) Sunlight affect the animal activities in
the ecosystem.

el @ () 91 (1) ottt i s -v¢
| v)
1T (g puaint Vo LS Sueats (1)
B9y pe oSt aibadny
Lo 9T oS altait
blis e yuedd) s g 805 (0)
RIESPL PR (PN [ YL PYRRT
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35- Study the figure and answer the | co i @d ST JSEH uyat -YO
questions: | VAGY AL e

|

|
3r: What does number 2 represent? 3(Y) cuS Y Fias I3Le RESES
4t Justify your answer. | Lo e slast
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36- Compare between Vesicular (frothy)

and porphyritic textures.
- give examples.

= 8aY wdd) o GHlB -Y
ALl 553 ge 64825015

Vesicular / e aat

porphyritic / ¢ yd)sd1
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37- Choose (A) or (B) and answer the question | (&) gi (1) et i3udt dsf st -YY
What would happen if ... roa @
(A) Highly viscous magma rise up through e Sty 13La
a narrow path in the overlying rock | 1, i1 adlke Leals s (i)
layers. Sladall b Ao Lol IS5
(B) Shale is subjected to high pressure and L glad S 4y y3viall
temperature less than 200°C. dasal Jalall y i o pad ()

[e] o w
e YNOAJ&‘A)‘Pj&Mﬁ

38- Choose the correct answer s Asvouall Al W 5 -FA
which is the following helps Jerboa to | £ 9 e by by Lo &
overcome thirst: - yikaat| da ylie

(@)  Useblood of preys as a source of water it o3 e it (1)

(b  Get water from succulent plants. i hasd BB e sl oSt (D)

@ Dilute urine. gy caans @

(d Hibernate. (st oot Ity @
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39- Interpret: sdle -Y4
Formation ofspheroidal shells (exfoliation) | _io (,aat1) ag,8 5is o953

on the outer surface of granite. il sl el

40- What would happen to lava when 1 ole A Slad ZLLS Lo -

subjected to air and normal or . .\
. daaall s1o-gl La SAT EO-FE X

atmospheric pressure? ’
QL"gal.aJ‘ Lf}"'-”

41- Replace the statement with a suitable | a0l 5)lcats Juociat -
scientific term: - culialt olal mllaastly
The ratio of the mineral mass to the mass | 31:g 1 ;uae atis O il

of the same volume water. Ll (pe pammd |
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42- What is meant by transported soil? SAgaial) Ayl dguadali Lo - ¢ Y

43- Choose (A) or (B) and answer the question | (o) i (1) ot g—wdt dsf Ji5 1 - ¢ ¥
compare between: oot (3B @
(A) Coastal caves and limestone caves. Elylie g Lt &Lt (1)
(B) Elongated dune (EI-Gharwd) and o |y

torrent channel (Khawr) g9 39 a1 (L)
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44- Study the figure and answer the questions: | :coi@d G JSEI uyal -£ ¢

R R R R R R
% e o S R
B O 0 S A R S RS IROR ORI
S e o S S S S S S
NSNS SIS I I I IO II I I I IS INI I I I IS I IS I I I NI SIS

succession
oy ol

Sedimentary Sedimentary

succession
gyl

P CAeL Clely

Igneous rocks  ofeemiaaten:

)l Hsio

1*: What is the type of contact between the | pwst o Jwolallaatiggsba :;r,i
igneous body and the lower sedimentary 1 TR
sequence? glaad sl B

2": What is the structure shown by the lower | o glas i3 oS 301 Lo :Lat:.
sedimentary sequence? At g 3 331 bt

3"%: What is the type of contact between the | (o Jwolall wstl g43 La L

two sedimentary sequences? . . —
ty seq Ot g 1 (sl

4™: How many times did the deposition stop? | =Ll cow ,it 1 a8 435 ps @S Lasl
cgUaal ! 10s (4 9SS
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45- What are the benefits of:
(A) Earthworm.

Seeea (30 JS 3518 o AcadiLe -£0

o2 ¥ Ol -

(B) Synthetic fiber. deliall cala¥y -y
(C) Biogas Sl gt oy
(D) Feldspar. olelatt ¢
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